|' LM&MJ&AA,MM;

_( ; —Mwﬁwupuﬂw l_o.n_\f is
Called self -gd}mm‘Lkﬁc_nu_j,;_ziﬂ,}z_A_,yl

ample ~Let V=£el Lob]) $@)=5b)=0} and =4z,

There fore, For 5 5 €V +
<25.4>= 5 $1x) )Jx
~so<)e(x)\ _i§ 500y 6V
— L "Su_{'b‘) [x)d)(
I = (0 bl 5 F 05 ddx
I = jﬂtzm”zmx g

1] —~'<5: X.‘y>

Cons%_aniiti_jcl{ odjolar.

| .M‘ - ~ ohly hai"-x:ml__e_?u.\u_[uc.s )
__LJQHQM_ZEAJEMAM!«&Qm ,'i'hzrf._m.ti;;t Such
L that 2 ;L:Szuna Haos.
I <z4}> <M’-¢>~A<Lo,> . §
| <Zf,e>=<4 zp“q Sy =X<£g>
. Bl C onsequinthy A<S 7,>=X<; q>=> ,\-'A =\ O

Eend o ¥ — \

Let {1;,_11 v 6
)\<,|;¢,> R TPE <¥1};2_M£,;}

= (A-A)\ & szl 0.
=2 <& 9) 0

il s I E—




L

ereforc,

ler V= HGL‘(EII]'¥(~l)=§»(l3’.-ﬁ'(-‘!)=4"(l)’o’ =8z, T
for £, QGV we have

O-

<a(+ 7> S -F"(x);(x)o\x
= -S'l%)?(x)l -S ¥(x)a’[x)ol;<

"'a‘(l)s(l)/f’(-l)el-l\ wa’ Gl +5, $8) U)ol

= <—F ie«>
E;?mvélues A s ¥ Lmik_usz_mdln/., f«}cm/ec{"lzrs mhsﬁy
L=\

= FI=AE

= £ (x)=A cos(FRx) B850 (V=2 %),

S%nﬁ& XER i+ -Fol_lows Hat A=Z0.To ensur the €oncrons are  im

<

we imvs+ have 4hat

[-A= 21N nelN or J-2=0.

= A= ‘}'rrn or A=0

n 'FonLJ‘:Dn'S Gy€.

¢ |J. Cos(2mx), Cos(4mX) , o\, Sin(210X) 5:n (trx) ... 3.

'1{-24;..5

h o) ¢ " then T4 t?/.ra fun




